C:# Dividing Whole Numbers

Name:
Solve each problem. Answers
1) 128+8= 2) 86+2=
- - 1.
2.
3.
3 116+4= 4) 699+8 = 4
5.
6.
7.
5 41+4= 6) 977+7=
8.
9.
10.
7) 55:+8= 8) 711+4 =
- 11.
12.
9 684+4= 10) 21+5=
11) 56+2 = 12) g12+4 =
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Dividing Whole Numbers

Name:

Answer Key

Solve each problem.

1) 128+8= 16

3 116+4= 29

5 41+4= 10r1
7) 55:8= 617
9 684+4= 171
11) 56:2=_ 28

2)

4)

6)

8)

10)

12)

86+2= 43
699:8= 8713
977+7= 13914
711+4= 17713
21:5= 471
812+4= 203

Answers
1 16
> 43
3, 29
4 8713
5, 10r1
6. 13914
7. 6r7
8. 177713
9. 171
10. 4rl
11, 28
12. 203
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